‘ . QUESTION BOOKLET -
This quegtlon paper contains 170 questions. / 39 Y3993 & 170 5 & |
All questions are compulsory. / @4} wvq e § |

One question carries half mark only. / T% w39 3 fore et s o 2
Maximum Marks : 85

_ Iferenan 375 : 85
Time : 2 Hours O : 2 Yque
1. Which level of abstraction describes what data are stored in the database ?
(A) Physical level (B) View level
(C) Logical view Schema

ST 1 B W Y T & b e B w9 S v § 0
(A) WfF TR (B) TH@&ER (C) difhhgea (D) &Nl

2.  Relational algebra is

(A) Data definition language (B) Metalanguage
(C) Procedural query language (DY Al of these
T SIS R ¢
(A) SATrgT qieATST TS (B) 3ttt
(C) wishaTenss g=a1 Wil (D) Amh
3. In MS Access which.is a process of summarizingdata from M one
source 7 N
(A) Data validation (B) Data consolidation
(C) Data form (D) Data filter

MSAccessﬁ%ﬁ@ﬁm@ﬂﬁémr:-'@fm?ﬁ?m??
(A) HAlwerduar (B) NTweIdlHm (C) AHheiwH (D) Afwst fheX

4., In MS-Access, by which command we can add records to a table from
different tables ?

(A) Simple query wizard (B’)/Cross tab wizard
(C) Find match query (D) All of these e e 8
MS-Access H FIF & AT g B0 eoat T farfdres 2orer 1 Repte it ).
(A) Rrrer w= forstré (B) s o
(C) WrEe A= F=ll (D) I ueft
' is also known as
5. Row Ii“lile?g Acceés t(zg))le IIS) :tzo 0 %(C) Type @ Record
fqo e B W W W FE Sl ]
@A) frs (B (C) Trd (D) frnid

' e 3 Code No. : C-569/2021/Series-B



10.

11.

Which is a method to create a new table in MS-Access ?

(A) Create table in design view \(B " Create table using w1zard
(C) Create table in datasheet view (D) All of these
MS-Access # 71 29 7 hl R g i 2 9

(A) RTFAATATE (B) R ¥ 379 A Seer SR
(C) Serefie = 8 ¢&e M (D) Fawf

Which is the shortcut key in MS- Access to close the database ?
Sra 1 5 F T MS-Access § videe by BAH R 2

Ay Alt+F4 (B) CHl+W  (C) Cri+C (D) Ctl+ P4

The most important or powerful computer in a typical network is
(A) Desktop (B) Network client
(€) Network server (D) Network seetion

ﬁﬁmﬁaﬁﬁﬂaﬁq‘ﬂﬁﬁﬂa—mwﬁsﬁw% |
(A) SEHe (B) Teabwme (C) Joud o | (D) 5% Y

- In signal processing, application bandwidth is measured in

(A) decibels _ #(B)%hertz

(C) micron (DY~ bits per second
Teha SIoRAH H, STguE Sefied i L AAMTSETR |
(A) SHww B) &

- (C) wTEshA (D) few wfy s
Which protects the coaxial cable from noise ? |
(A) Inner conductor (B) Outer conductor
(C) Diameter (D)~ Insulating material
THTE HeeT ! T A HIF =TT 8 2 -
(A) Ja:=H (B) T =T
(C) =™ , (D) sHeEm n'aﬂaa

Wthh I8 not a type of computer network ? -
(A) LAN/ (B) PAN (Q;/ RAN (D

(A)?ﬁ' (B):a-";._ﬁ (C)iw (D)fh
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12.

13.

14,

15.

16.

'mwwwmmﬂwﬁhmﬁm 

17.

(AY star  (B) ring (O tree
S HI FIRAT 321 3 Terhit SraTe ) ST FAH R T~
(A) BT ®) for ©) @ (D) W
Hub received data in the form of .
AR Signal () Folder  (¢f Packet | (D) File
Tt T i R a7
(4) fome (B) wieet ©) e (D) FIEt
S ’43‘-'( '
The (’fépl model consists of how many layers ?
(A) Nine (B) Eight (€) Six (DY Seven
OSIHige # et weall w1 gomaw Srar 2 2 |
(A) T (B) 313 €) B (D) @
The interhet is a system of
(A) - Software bundles (B) Webpage
(C) Website . (DY Interconnected networks |
T HTHTAR |
(A) TIHRSR 95cq (B) Y=
(C) SewEe D) e Yeawd
A website’s main page is called its
(kf Home page - (B) Browser page
(93} Searc_h page (D) Bookmark
T S9ETEE & 6T U ! T HEd & 7

W Whlch of the followmg isnota class of IP‘address ?
. maeRmad @waﬁw@% L
fﬂMB{m@ﬁ ©p e

Which topology simulates hierarchial flow of data ? @n SR
(D)“mesh

By _5 g —' Code No C-569120211Ser1es-E



18.  DSL speed typically lists which speed ?

(A) transfer (3) download () uplo: i (D) control
Htuw wer i fafe wg @ fah ik antdi 82 ‘
(A) T (13 s (C) Srels (D) Fo

Which protocol is used to lind the hardware address of g 1gcal device ?

wamﬁammmgﬁawhﬁmmmm%mmm
2?7

191

(A) RARP (B) ARP ) (D) 1CMP
20.  The process of trading goods over the internet is known as

(A)” E-trading (B) E-finance

(C) E-salesmanship (D) E-commerce

Rﬂzwa@aﬁ%waﬂmzﬁwm%?
(A) §-2f&m (B) 9  (C) $-Bewimgiy (D) E-wind

?1. - All téinet operations are sent as
(A) 4 bytes (B) 8 bytes (GY 16bytes (D) 32 bytes
of} 2ee wivhand % w97 Woft Sreft ¥ | |
(A) 4413 (B) 8amsz (C) 16432 (D) 32=m3e

22. Which is required to create an HTML document ?
(A) Browser (B) Internet (C)/Text editor (D) Search engine

HTML STHRIHe 714 o fTu foparehl srmaaerat i 2 2
(A) SR (B) e (C) TRWXR (D) & Rm

23 Which is an ek’ample of malware ? g
(A) Worms (B) Trojan horses(C) Spyware (D)/All of these
'”“E'“‘ma'a’:“‘ L e T
(A) ‘*ﬂf S (B) W's'ré (C) m%m _(D)'_iw__?__g;
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24,

25,

26.

I 28.

Which ensures that unauthorized users do not access the system ?

(A) System Design (B) Data Access Control
(C)--System Access Control (D) All of these
SIS ST o Y o 1 R, 78 A P e 29

(A) @ Ifirmeg (B) atfegt afimy frarror
(C) T v firpay (D) Aaf

Another name for an antivirus is
(A) Worm (B) Spam (C) Vaccine (D) Retro-virus

sty 1 qEw w2 ¢ '
(A) =4 (B) &w (C) et (B:@m

Which is a cyber crime ? B
(A) Hacking  (B) Worm attack (C) Virus attack (D) All of these
TTFE ATY 47§ 2

(K) b (B) 3w  (C) am@ s (D) Amft

The site of the Asian School of Cyber Law is in

(A) New Delhi (B) Pune (C) Chennai (D) Lucknow
TR |13 HIH whet foFd e e 7

(A) Wlest (B) T (o)/ ECH (D) @IS

Which logic gate is similar to the function of.two series switches ?

(A) OR (B) AND (&Y NAND (D) None of these
I |1 s e g Hiw feria & word % aum R0 L

(A) OR (B) AND (C) NAND (D) T | WIS 7
Software design is

(A) Process . (B) ‘Model
(C) Both (A) & (B) (D) Design
wigeaT feset 18 7 | .
(A) TFE (B) HIsH

© @@ @R

T i Code No. : C-569/2021/Series-B



30. The carliest city discovered in India was
(A) Harappa (B) Mohenjodaro(C) Sindh

WRA ¥ @I 797 999 W= I8 o1
(A) FSHI - (B) #HEAwgEl  (C) fau

31. The word ‘Veda’ means
(A) Power (B) Skill (C) Wisdom
Fe g wmrarf e ?

(A) wfF (B) fagorn (C) sfgmrh

(D) Chanhudaro

(D) =ggre

(D) Knowledge

(DY =

32.  Which ruler murdered his father, Bimbisara to ascend the throne ?

'; (A) Ashoka (B) Kanishka (C) Ajatshatru

(D) Simuka

Rigrer griiret e o fore R wrees 3 ared R R 6 mear <61 oft 0

(A) I (B) wfres (€5 s

hird Buddhist Council was patronized by
@ishka (B) Ashoka (C) Satakarni
g it =1 weeror feas fe e ¢

(A) Hfrws B) s (C) el

(D) ¥ 8 HK TE
3. Who wés the first known Gupta ruler ?
(A) Sri Gupta | (B) Chandragupta I
(C) Kumaragupta I (D) None of these
- TYH TG T I D o7 2
(&) s (B) <1
(C)” FRID-] (D) ¥ & Ig el

35. The ﬁrst_battle of Tarain was fought in
IS 1 VT Ig H8 ST 7T 7

(&) 1190AD. (Bf 1191AD. (C) 1192AD.

(D) fg=

(D) None of thgse

‘(D) 1193AD. -

PeNo : C1569(202-115erie§-B:-- i 8



36.

37.

38.

39.

40.

Who is regarded as the second Alexander ?

(A) Jalaluddin Khilji (B) Mubarak Khilji

(C) Alauddin Khilji (D) None of these

TR qET STCIaRE WAt ST R 7

(A) ST Raersh &5 s el

(C) ITem3edi Rawrht (D) T & B T
Which Delhi Sultan established a Charity Bureau ?

(A) Firoz Tughlaq (B) Muhammad bin Tughlaq
(C) Alauddin Khilji (D) Balban

fore feeeht < germm I warrer den (dam QTa) it T 6l ot ?
(A) TS grrern (B) HEWE, fom e

(C) - Frese fawrsh (D) s

The only Hindu Courtier of Akbar who accepted Dinsi-Ilahi was

(A) Todermal (B) Birbal (C)f Tapsen,s (D) Man Singh
e o Tl feg aratt e R-ghgetndl w1 St e o

Ay dewmer  (B) ey’ ), (@) dHE (D) ARz

Who among the following eentrolled maximum trade in the western coastal
region during 17" century 9

(A) Portugu€seéy, (B) /Dutch (C) French (D) None of these
4.8 foRg 47 6 % SR uferdt adta dm # el g samn w1 P fean

g1 ?

(&) g (B) W (C) (D) ¥ & v e
Gandhiji considered Khadi as a symbol of

(A) Moral purity (B) Economic growth

(C) Economic independence (D) Industrialization

Tfeftsft @} ! fepaent Tt wa & 7

(A) fde Y& | (B) awr&faaﬁm

(C) 3 T (D) Jenfreror

— e —
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41. The first session of Indian National Congress took place at
(A) Lucknow  (B) Calcutta (C) Bombay (D) Madras

VI T i 1 aEer ST HEl gAT Al ?
(A) TGS gy waFm  (C) WA (D) g™

Who was the Chairman of the Constituent Assembly of India ?
(B) Dr. Rajendra Prasad

(D) Pandit Jawaharlal Nehru

42.
(A) Dr. B.R. Ambedkar

(C) Dr. B.N. Rao

WRE ! R Gy % FHIfd S 2 ?
(A) BT .31, IT=SH (B) I o= wEe
(C) & HE 1 (D) ufEa Faretens Yo
43. How many schedules are in the Constitution of India ¢
WA & Hiewr § et srggfimt & 2
(A) 9 (B) 10 (C) 11 Oy 12
44.  Indian Parliament can rename or retfefiné the Boundary of a state by
(A) A simple major‘ity (B) "~ Absolute majority
(C) Two third majority - (D) None of these

R qag fret g sl = T G reEn gAdfonfye |
T8 | | |
(A) T SEHH (B) i sgma |
(©) ATz Fgwa (D) T HE 7

45. Which is not a fundamental right ?
(A) Right to equality
(C) Right against exploitation

(B) Right to strike
(D) Right to religious freedom

8 @ B |1 g HTBHR G 2 2
(A) HHT 1 SHR (Bésamwaam
(C) iur o fereg fUeR (D) ﬂﬁmaﬁmmm_

e, e S— ——
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47.

48.

49,

50.

, , N £ S
Which ensures the social and economic democracy in Indian Constitution ?

(A)/Centre-state relation

(B) Provision of Emergency

(C) Directive Principles of State Policy

(D) None of these

F M ST 3wt qun SR wi GRfTad e ?
(A) $5-TsY TaY (B) SATITARHTSA 1 STHH

(C) T=a < Hfe Fréwrs Rrgrm (D) ¥ & B3 el

Which was elected unopposed for the post of President ?

(A) Dr. Rajendra Prasad (B) Dr. S. Radhakrishnan
(C) N. Sanjeeva Reddy (D) S.D. Sharma

Tguicr o 7 % fore Rl Pt g ma a2

(A) 1. T T (B) . TH. TUTHTH
L) @, wha (D) w3

For what duration, the election of member of Rajya Sabha is done ?

(A) Twoyears (B) Fouryears (C)-Fiveyears (D) - Six years
et ety 3 fore T w1 % wew o e R S @ 2

(A) QE= (B) IR¥®  (C) wHEEw (D) B:¥W

Governor is sworn by
(A) Chief Justice of High Court (B) President

(C) Chief Justice of India (D) None of these
T TIYTeT <ht 19 feerams St 2 |
(A) @W%g@awﬁﬂﬁ (By” ugufa

(C) ¥ < TeT = (D) ¥R HH T

What is the retirement age of the judge of Supreme Court ?

‘(A) 60 years (B) 62years  (C) 65 years (D) None of these
- aﬁamm%wmw#w-ﬁqﬁmmaﬁ%? '
@A) 60 (Bf 62 (€) 654 (D) T AR

11 Code No. : C-569/2021/Series-]



S1. Democratic Decentralization means

(A) Union Government (B) Parliamentary Government
(C) Democratic Government (D) Local Government
RIETHECRCE T EauE AR DR
(A) Tt TR (B) TUGHE TR
(C) wArmdifash TR (D) < TR
52. Which is the nearest planet to Sun ? ]
(A) Mars (B) Venus (C) Mercury (D) Earth
o & o9 TS FI TG B A1 R 2
(A) W (B) W* (C)y qu (D) =it
53. Low tides are
(A) Weak (B) Moderate (C) Strong (D) Very weak
1T BT & i

(A) gHa (B)/‘?W (C) W (D) 3 gt

54. The innermost layer of the Earth is known as
(A) Lithosphere . (B) Mesosphere
(C) Aesthenosphere (D) Barysphere
geat 561 ST U I 1 HEd & 7

(A) wemHsa (B) WwHsA  (C) USRIRRR (D) TEHew

55. Nappe is a kind of

(A) Fluvial feature (BY Folded structure
(C) Erosional plain (D) None of these
Y ForTeRT TRR B 7

(A) T fRvar (B) afa@edr (C) FWEH #eH (D) FHAFEA

56. The tropical grasslands are called
(A) Pampas (B) Llanos (CY Savanna (D) Veld
IS TG l HEd & |

. (A) T (B) @M (C) @amI (D) ¥w8

., Code No. : C-569/2021/Series-B 12 '



57.

58.

59.

60.

61.

62.
“ (A) Valley (B) Highway (C) Pass (D) Highland

Onshore breeze develops in

(A) Day (B) Night

(C) Both(A) & (B) (D) Season
deadi g F wEdt @ 7

(A) fead (B) T

(€3 (A) 7 (B) (D) HgH

The Earth Summit w ized b

(A) UNESCO (BE;S O{;g;;r(‘:]g[) ’ (C) WHO (D) UNICEF
9ot wRteR foeeh g smifra v a2

(A) ZIEH (UNESCO) (By UNCED

(C) WHO (DY A% (UNICER)
The largest ocean is |

(A) Atlantic Ocean (B) Indian Ocean
(C) Arctic Ocean (DY Paeific Dcean
GECESREIUIE

(A) JEMH EEIR (B),, e memTR

(C) AThiesh HETETR (D) eI HETETI

Black forest is found in
(A) France «(B). Germany (C) Romania (D) Italy
THTAT SITA JT AL

(A) wEH By S (© dmPmd (D) e

West Bengal makes borders with how many countries ?

(A) One (B) Two (C) Three (D) Four
i3 Sret fore S S Ty HATA B 2
(A) T B) A ©f d (D) IR

The gap of a mountain which provides natural path is known as

 ETe 6 S T T e G, e &

"-"’;.'_;;_(A) @@ ) W O (D) Tl

13 Code No. : C-569/2021/Series-



63.

64.

65.

66.

67.

68.

ia ?
Which river originates out of India * - s
(A) Brahmaputra (B) Beas (C) Ravi (D) Jhe

F17 T 7 W 3 aTel I Bl 27
() 7w (B) = ©) wh (B ¥

S dam is built on which river ? . |
(Sf:l;da;ar?:;zzzr (B) Tapti (C) Mahi (D) Chambal
grer TR aiy fpe T WS - -
Ky T ®) T © W& (D) s

From where does the heat come in the environment ? -
(A) Insolation (B) Condensation (C) Radiation (D) Convection

FTATEROT & TRHTEE HaEl & AT @ ?
(A) A@EY  (B) HEAH () fafFwa (D) TEEd

The laterite soil is found in

(A) High rainfall states (E) Deserts

(C) Tropical areas (D) Dry and humid tropical areas
ATFE e TS STt 3

(A) arftrs aut 9@ T | (B) il |

(C) SoTehfesrig &=t 7 (D)3 qUT 318, Irehiearfty &1 o

The famous ‘Gir’ forest is located in which state ?
(A) Rajasthan (B) Gujarat (C) Maharashtra (D) Tamil Nadu

v&@d ‘e fratsaifREe?
(A) TR (BY TS (C) wWemg (D) afrerTg

Jawahar tunnel is located in which state ?
A) J&K (B) Maharashtra (C) Karnataka (D) H.P.

aTE e fha Tsg 1 fRa g 2
& wsRFwiR(B) mg  (C) s (D) Rwmwww

Code No. : C-569/2021/Series-B 14
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69.

70.

71.

72.

73.

Talchar is important for which of the following ?

(a) o0 R o

| (© P e

(A) Cable industry (B) Hydropower gener ation

(C) Atomic reactor (D) Heavy water plant

qeat T & fermrss forg wearqul 2

(A) Had I (B) e T

(C) wruTfereh Rurex (D) i 5 §AF

Minimum payment to factor of production is called

(A)-Quasi rent (B) Rent

(C) Wages (D) Transfer payment

I T T & =T WA i 1 HEd & 7

Wm fortan (B)  femtmn (C) (D) 3FTOT YA

Product differentiation is the most important feature of

(A) Pure competition (B) Monopoly

(C) Monopolistic competition (D) Oligopoly

I fadie ) U i AR fedra @ |

(A) rguhri%a’nﬁm (B) THIUHR

(C)~ Cemiirhrdt wierfiran (D) IrITUHR

What is dual pricing ?

(A) Expenditure on two products  (B) Exchange two products
. (C) Foreign trade (D) Two prices of a product

et A T 1 BT @ 2

(A) QI o R (B) 3 IR I HACH-TGH

(C) et =m (D) T TG I Q) <hiere

National Income is generated from

(A) ‘Any money making activity (B) Any laborious activity

(C) Any proﬁt-makmg activity (DY Any productive activity

e AT 2|

- (B) Tereht oft sy fomam
(D) %{-ﬁ\ﬂ:ﬂmﬁm

15
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74,

A scheduled bank is one which is included in the
(A) 11 Schedule of Banking Regulation Act

(B) II Schedule of Constitution of India

(C) II Schedule of R.B.I. Act

(D) None of these

B o dFagdcy  dummm e el
(A) T Tgdv vae fl s 1T (B) s 3 e TR 11
(©) oA, TR sl (D) FHE P

75. In the budget, the difference between total expenditure and total TeCeipts i -

76.

77.

78.

79.

called- .
(A)” Fiscal Deficit (B) Budget Deﬁm.t
(C) Revenue Deficit (D) Current Deficit

aie #, el @ 3R ol WISy o ofier F I Dl FTFHEA & 7
(A) TorfRrarRr (B) swearer  (C) W@ (D) Ry

Taxation is a tool of

(A) Monetary policy (B) Fiscal policy
(C) Price policy (D) Wage policy
FAUM 1 T B |

(A) WfgwAifs  (B) wewafify (C) Fmashfs (D) éawrfa

Golden Revolution is related with

(A) Rearing of lagoons (B) Beekeeping
(C) Grapes production (D) None of these
Tt hife fored Tt 2

(A) U (B) WYRSE!URH (C) FRIAEH (D) THADETE

Capital Market Regulator is

(A) NSE (B)” RBI (C) SEBI (D) IRDA

Human Development Index is prepared by

e feTa gEehies R gR1 A R Sman @ 7
(A) UNDP (B) WTO (C) IMF -(.B) WHO -

'Code No. : C-569/2021/Series-B 16




80.

81.

82.

83.

84.

85.

The causal organism of Polio is

(A) Worm (BY” Bacteria  (C) Fungi
T 1 HROITeR S 3

(A) Ff (B) ey (C) wa® (D) feramy

Which is a parthenocarpic fruit ?
{AY Banana

(D) Virug

(B) Apple (C) Mulberry (D) Strawberry
w1 T APEwh AR ? |
(A) = (B) =

(C) W& (D) wrEdh

The/gas released during photosynthesis is
—(A) Carbon dioxide (B) Oxygen
(C) Carbon monoxide

. (D) None of these
m—mﬁw%maﬂqmﬂnmﬂaﬁ% ?

(A) FTEA T3t (B) arfadie=
(C) HEA AR (D) & 515 7

The largest flightless bird whichsganyun ata great speed is

(A) Penguin (B) Kiwi' 4 (C) Ostrich (D) Emu
Y 97 32 STRIHRT ST V& 16 39 Ry A g 2

(A) e (B)» = «ey IafT (D) T

What is the other name of Vitamin B, ?
(A) Thiamine, (B) Haemoglobin
fotm B, : @ m e 2 9

(A) i (B) dWmEN Q) TR (D) TR

Lemon is sour due to

(C)"Riboflavin (D) Dextrose

(A) Acetic acid B Ascorbic acid
(C) Tartaric acid (D) Citric acid. --
Frq fra R A wzdad ¢

(A) THifRew dre : (B) Twhifds wire
(C) Tef e ' (D) wiH e

17 Code No. : C-569/2021/Series.



86.

87.

88.

89,

90.

91.

Respiration is

z r None of thec.
(A) Oxidation (@)/'Reduction (C) Hydrolysis (D) 1 £ thf_!se_-‘

(A) ST (B) SRR () we-awmed (D) FHIARERg
Which is transmitted via blood transfusion ? .

(A) Hepatitis  (B) Typhoid (é@f (D) Malaria

- | 1 TG Far 2 9

(A) T (B) mm (C) wmaEAl. (D) W

‘Pigeon Milk’ is produced by _
(A) Birds (B) Mammals (C) Reptiles \@/ None of these
Tt i s grt senfem i 2

(A) wfgri (B) wHur (C) =gy (D) T & IS 7

An adult human normally has

(A) 6 molar teeth (B) 8 molar teeth
(C) 10 molar teeth (D) 12 molar teeth
T 996 NG § 9=E: 2 §

(A) 69du-g<  (B) $wdu-g=  (C) 10 ==v-g=1 (D) 12 Sdv—e=

Which is not an electromagnetic wave ?

(A) X-ray (B) Gamma ray - (C) Cathode ray ﬂﬁ Infrared

1 T e -t o A 2 2

(A) @-feor (B) TR (C) e fEw (D) 1=t o
>

Sensitivity of human eye is maximum in

(A) Violet Region (B) Green Region

(C) Blue Region (D) Red Region

AT 3 Sl Heesierar siftrnad g Wakd 2 -

@ ¥hEE @ wWE (© fmdd (o) wwand

\Code No. : C-56972021/Series B 13




92.

93,

94,

95.

96.

97.

Speed of light is maximﬁm in
¢(A) Vacuum (B) Solids
smret < nif arftream A @
(A) Frafe (B) 3rdid

(C) Liquids (D) Gases

(C) zEid (D) =i H

The loudness of sound depends upon
(A) Velocity (B) Pitch
@ 6 3= frw w Pk 2 o

(A) =m (B) s=ww@  (C) ™M (D) win-2ud

(©y Amplitude (D) Wavelength

What is dry ice ?
(A) Solid carbon dioxide

| (B) Benzoic acid
(C)-Glacial acetic acid

(D) None of these

SF T R 2
(A) 3 FTE ETHTS (B) =g uftrg
(C) ifiraet wEifess ufirs (D) ¥ | IS

What is Vermicompost ?
(A) Organic fertilizer

(B)- Inorganic fertilizer
(C) Toxic substance

(D) Type of soil
THIHHIE 1R 7
(A) HTEF TT] (B) e Wre
(C) fordem wered (D) frd =1 WK

Himachal Day is celebrated every year on

(A) 25" January (B)~ 15" April  (C) 1% September(D) 1* November
fermeret feaw & arer AT S &

(A) 255t (B) 153 (C) 1R (D) 1 &y

Kot Dhar is located in which district of H.P. ?

- (A) Bilaspur (B) Hamirpur (C) Chamba (D) Kangta

FIZ ur e weu & fore e o R g 2
Wy e @) whw  (© wm (D) Fim
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Ct Of!l.P- ", .
(B) Lahaul & Spit
(D) Chamba

98. Pangi Valley is located in which distri
(A) Kinnaur
(C) Shimla

i i e, 35 e P e 2
(A) foi @) e =

(C) fmen (D) ==l
. ¢ istri P.?
99. *Nadaun’ sub-division is located in which dlb.lrICl of H ) Uns
(A) Hamirpur  (B) Solan (C) Sirmour

AT 39-1veH .. & form forct 3 fRua R 2
(A) Efigr (B) wrem (C) ferit (D) F

100. Oldest democracy in the world is

(A) Kamroo (B) Pragpur (C) Malana (D) None of these
forea & wa@ wefty Srepa= 2

(A) ww (B) g (f wemn (D) w7 & 7

101. Largest Urban Settlement in H.P. is

(A) Dharamshala (B) Palampur (C) Sundernagar (D) Shimla
Ry ¥ vl o vt w=h 2

(A) wrfsrre ~ (B) Mg (C) g<@ (p)/ﬁmw

102. The headquarters of Kinnaur district of H.P. is

(A) Kalpa (B) Kaza (C) Pooh (D) None of these
f&.9. % formite Rt =1 e 2
(A) e (B) s ©) vE @) T A
103. On which river is situated the town of Chamba ?
' (A) Beas (B) Yamuna (C) Chenab (D) Ravi
T R R A R fRm R 2
(A) = (B) T ©) frm ©f T
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104,

10S.

106.

107.

~Gaiety theatre was opened in Shimla by the British in which year ?
(A) 1887AD. (B) 1895A.D. (C) 1903A.D. (D) 1907 A.D.

Frsrem 3% frfwn gra A fordrer o and 8 vty ra et 2

(A) 188744 (p) 1895€d.  (C) 1903%d. (D) 1907+,

The old name of Nurpur is
(A) Kconthal (B) Baghal
X T 0= 379 R

(A) fraiua (B) amaw (C) g Dy T

Whg was the first Vice-
(A) Dr.RK. Singh
(C) S. Chakravarty

(C) Suket (D) Dhamen

Chancellor of H.P. University ?
(B) N.C.Mehta

%.H.qﬁaﬁm%mmﬁqﬂ? (D) Noncc.)fz.l_hf:sc

o) % . R (B) @, Ty

(C) wa. ashadi ©) ¥
N o

Indian Pasteur Instifute is located atWVhich place in H.P. ?
(A) Kasauli . (B) Tanda_~ "\ (Cy Palampur
T e seam fR.. 3 e St fRem 2 9

(A) wereh (B) el (C) WM (D) HEEW

108. Thirot power project is'situated in which district of H.P. ?
(A) Lahaul & Spiti (B) Kullu
(C) Mandi %, & (D) Kangra
¥fiRE Trat it fo . & fre Rt R 2 2
(A) v ayefify (B) T,
© =t . | (DY iTeT

109. Who wrote the book ‘Pahar Begane Nahin Honge’ ?
(A) Shanta Kumar (B) Dr.Y.S.Parmar
(C) 'M.S. Randhawa (D) Dev Raj Sharma
?emq & g qeaes fopa feradh oft 2
(&) TR | (B) . 1%, 7. AR
(C) TH.T". UTE _ (D) eaUs YWt

(D) Sundemagar
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110. Kufrijeevan & Kufrijyoti are the varieties of o
(A) Potato (B) Apple (C) Tom

FHEOSET IR pri=afy Readh i 8 7
(A) I (B) ¥ (C) T

111. Mahima Library is located at which place in H.P. ?
(A) Sujanpur  (B) Nalagarh (C) Amb
AT SashTerd f2.9. & @ ot s wfRa R 7

(A) g9mHgR (B) HA1TIE (C) |

112. Which festival of Lahaul is parallel to Diwali ?

(A) Phulaich (B) Minjar (C) Halda
SITEIT 7 19 97 =R fRaref ¥ aasy 29
(A) FATEE (B) fisw (C) w==T

J\Iia “Wirich place is known as “The Mini Lhasa” in India ?
' (\A) "Mcleodganj (B) Rewalsar  (C) Manikaran
mﬁﬁmmﬁ “Prft g S T A I a2 2

(A)/ﬁasﬁzhgxm B) faEms (C) wforepuf

114. Missing terms in the letter series :
b;lg_bca ﬁv'biz\lgd(.ca baced is
_Sc\a\ \ bacd ‘24 tac _d T Aoft 7 g2 gu avEw R
(A) badddb (B) bbbddd (C) addddb

115. 165135 isto ‘PEACE’ as 1215225 is to
3 165135 % RAPEACE” 36t 7 1215225 ¥ R
(A) LEAD (B)"LOVE (C) LOOP

(D) Mango

(D) AH

(D) Nahan

(D) =ed

(D) None Qf these

(D) ¥ & I8 7

(D) None of these

(D) 8 @ %5 7

eb(e:ddbbb

(D) AURA

116. Which letter is 14™ to the right- of 6™ letter from the left in the English

alphabet ?

aﬁ?ﬂaﬁnmﬁﬁqymﬁaﬁtﬁ%éaxm%aﬁl
BY P

(A) R ©.-w
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1 i f
117, Who has been named country manager at Google India recently ?

(A) Sanjay Chupta (B) Juy Kumar |

(C) Ajay Jain (D) Rushiraj Pawar
e gfn i v o o o v it frm o d
(A | T (B) 8 AN

(C) 31U N

(D) s wan

118. Which state has topped India’s first cver ranking of states on justice delivery
recently ?

(A) Kerala (B) Tamil Nadu
(C) Maharashtra (D) Haryana

BT W D T T s v v e o e o e e i R 7
(A) By #fwery (c) wenp (D) #fmn

119, Which city hosted the 2019 conference of the ‘No Money For Terror’ ?

(A) Melbourne (B) New Delhi
(C) Paris (D) New York
for a3 = ol B B % wrer 2019 4 T 1 o1 2

(A) Ao (B) wfeht  (ef utm (D) =qarh

120. The Government-e-Marketplace (GeM) has recently partnered with which

bank for payment related services ?
(AY Bank of Baroda (B) S.B.L
(C) Central Bank of India (D) Dena Bank

eI — §- AR (GeM) 3 Bt 4 3 28 ot e 35 wves v i v
%R et Aige

(A) & sits wd (B) um.d.a,
- (C) Ha i Ff 3E (D) ¥4

P Y T
A e R LR S X
B i E PR VIR

A e —— —————
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de. which was in news recently is assoc,!a,t_ed -
ystem (HS) code, 13

121. Harmonized S
hi , .
X\)Ic?nfsi:::nr::e ) Rur;'l Zankmg e

Tk s et fra o A ey,
mﬁﬁl@(HS)aﬁg,ﬁ%mﬁﬁaﬁ 4 (B{ 2

(A) B) mefor T (C) @& e

122. Antonym to ‘Agony’ is

(A) Pleasure (B) Bliss (E)/ECStasy (D) Fear

person who is always dissatisfijeq’ is

123. One word substitution for ‘A N
(C) Malcontent (D) Surrogate"

(A) Heretic (B) Felon

124. They a new plan to throw him out of t_hat office
(A) conspired (g_)rféfmceived (C) connived (D) contrived

125. She smiled my words.
(A) at (BY upon (C) on (D) over

126. I’ ¥ T 3
(A) =g:ifa (B) &= (C) g (D) I

127. ‘TR0 1 ui fredy & | .
(A) W+ B) T:+& (C) TM:+8W QY 79+ 3

128. IR |
(Aa/qﬁm (B) ulism (C) ufmmw (D) WA

129. ‘T BT IRE 7
(A) S (B) fargeft
(© T (4) R (B) (D) 78 ¥ id 7t

—— 1
L .
et x
——— .

g T
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130. Computer derives its name from which word ?

- (A) Computare (B) Calcite
(C) Calculator (D) None of these
Fget A fohe v | T 9 '
(A) FPLLI (B) aTEe
©) FeFa (D) T A
131. Oracle was introduced in
(A) First generation 4 (B) Second generation
(C) Third generation (DY~ Fourth generation
AT HA 1 ufE=y __ HEsmem) '
(A) wum digt (B) fedra i
(C) Tl g (D) =gy figl
132. Which type of processing is used in majnframe Coniputer ?
(A) Toggle (B) Serial “(€) Rarallel (D) Batch
AT et § R TR w1 SreReOn g e e R 2
(A) T (B) ‘safir® (C) | (D) ==

133. The organization ‘and” interconnection of the various components of a
. ‘;___————-"-'/‘ —_— ———
computer Systeniis

(A) -architecture : LBj/ networks
(C) graphics . - (D) designing
e 7 % faferg Teehi =1 ST 3 TTeR HEY I F1 H5d & 7
(A) STl ~ (B) W=
(C) el (D) 3ThrFed
-134. ‘C’in CPU denotes
CPU# ‘C’ guia1 & .
(A)' Common . c(Br)/Central

~(C) Computer = - (D) Convenient
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135. The ALU performs which operations 9

(A) LOginjﬂh S (B) Algorithm based

(C) Logarithm base (D) Final operations

ALU 91 & GhFa s 2 7 Perat

(A) 3*5”5““” ~ (B) W irtien Haith

(C) TG Haedy (D) fwdfear
136. Which of the following manages cq

(A). ALTT (B) BUS Mmputer resources ?

8 B R e o q7_((;32%(;?:ontro1unit (F 1O unit

©) ®==afe (D) voafe
137. Group of Instructiong that directs g computer is called

(A) Storage (B) Memory C) Logi
aﬁmwwﬁﬁw ﬁmﬁaﬁhw&% X RS

(A) ®Re (B) I (C) =i (DY s
138. A 32-bit microprocessor as the word length equal to

(A) 2 bytes (BY” 4 bytes (C) 8 bytes (D) 16 bytes
T 32-bitwmﬁﬂmﬁmawé%a%m‘éﬁﬁ% ?

(A) 2912 % (B) 4w med €) 83 (D) 16w meH

139. When a key is pressed, a keyboard interacts with

(A) Sensor (B) Keyboard controller

(C) Keyboard buffer : Dy Bqth (B) & (O)

ST T I TS W ], 79 Hree Bruh " siahia s d 2

(A) =R (B) aﬁaﬁé HITR

~ (C) FE T (D) <M (B)q¥ (C)

140. Thg/mouse generally has

( o buttons (B) three buttons

(C) several buttons ' (D.)/ﬁone of these

139 | I B 8 * i
(A) due B) WA (C) TWIATE (D) FHARNE
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141.

142.

143.

144,

145,

146.

147.

What types of device is a computer monitor ?
(A) Software  (B) Processing (C) Storage (D) Output
F AR [ TPRH g R 9

(A) R (B] S () o (D) IILE

Which is not an impact printer ?

(A Laser printer (B) Dot Matrix (C) Daisy wheel (D) None of these
I |1 quTa R i o |

A) smfiw  (B) WARw - () Lhada (D) FTHABE T

Primary memory store(s)

(A) Data (B) Program = (C) Results (D) All of these
Tl AU @}

(A) @ (B) Wum (C) ufom (9)/‘5 ot
ROM stands for

ROM SR |

(A) Random Origin Money (B) Random Only Memory
(9/ Read Only Memory (D) Random Original Memory
A floppy disk contains

(A) Circular tracks (B) Sectors

(C)--Sequential tracks (D) Both (A) and (B)

T T e & g @

(A) TAER Y ®) ©

(C) g vy (D) < (A) 7 (B)

Addition of (10), and (1), is |

(10), 3R (11), F I}

(A) (100, @) (101), & (1), (DX Mo),

Which is not a computer language ?
(A) High level language - . (Bj/Mediator language
(C) Low level language - (D) All of these
Y T H R A TE R 2
- (A) 3wl W (B) HETEY w1
(C) T g v (D) Aufi
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148.

149,

150.

151,

152.

153.

Which is not the function of the operating system ?

(A) Disk Management (B) Application Management

(C) Memory Management (D) Virus Protection

v 3 @ Y w1 Y= 6 e e g o

(A) Fomm s (B) stgwdwiva(C) wfewim (D) s
Linux is a

(A) Single user, single tasking : (,B)/Singlc user, multitasking

(C) Multiuser, multitasking (D) None of these

e R

(A) THel TI1wI, Tt HRl (B) wshet weva, agwTEA

(C) WESYAHI, wghd (D) ¥ @ w7

Which is not an internal DOS command ?
S G ATIRF DOS HwT0E T8 27

(@) BACKUP (B) COpPYy (C) CLS (D) PROMPT

Which of the following refers to the rectangu'lqr area for displaying
information and running programs ? g o

(A) Desktop  (B) Dialog Box ' (C) Menu (D) Window
T A T /1 3R T st % et % o T 8 & wefifa 2 2

(AY Tewela (B) "RfEm®E (C) A (D) fe=

) in MS-Windows, files are organized by storing them in

(A) Tables (B) Database’ (C)Folders (D) Access code
MS-fagie ®, wrEet =1 §red 34 H SR % R sran 2 |

(A) arfmt  (B) 2w (C) et (D) M e

‘Which command from file menu in MS Word is used for creating a

document ? :
(8Y Open  (B) Close  (ENew (D) Save
MS Word H S19gH2 &1 % {1 wiger 3 & fove e &1 swaim fran sman & 2

(A) 3T (B) wEW ©) = (D) ¥
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: 154.

155.

156.

157.

158.

159..

In MS Word, the mailing list is known as the

(A) datasheet (B) source (CY data source (D) sheet
MS Word ® AT gt M F 1 wga § 7
(A) gar¥fie (B) @ (C) ¥fwgidE (D) ¥

Which toolbars allow to ¢ anging fonts and their sizes in MS Word ?
(A) Standard ( Formatting (C) Print preview(D) All of these

MSWordﬁﬁqmmﬁzaﬁrmmﬂmﬁﬁwﬁim%?
(A) T (B) H&qwm ©) wudsg (D) F&+f

‘Excel is used to prepare a
(A) database (B) text document
(C)-spreadsheet (D) slide presentation
~ Excel %1 39 T % fore Rrrwmar |

(&) SW®  (B) IR () Ve (D) wmwE R

The default file extension of MS-Excel is

MS-Excel %1 fewres w5t fram 2
(A) xIr (B) .exe (C) .exl (D)y—xls
In MS-Excel, which menu has option to alter the height and width of

——
S —.
———

selected cells ? '
(A) File (B) Edit (C) Format (¥ View _
MS-Excel ¥, ﬂ?ﬁﬁﬁﬂﬁ@mﬁj@ﬁ_ﬁtﬁgﬁqﬂaﬁﬂWW
gt ? |

(A) wra B) e © % D)7y

Which command in MS-Excel is used to _CQI_JZ_t_h_C__fZQ,_TfE‘:l.l@,_,th_the value
from one data to another ? BN

(A) Paste (B) Paste special (C) Ctrl+V Hyperlink
MS-Excel % | #wmve w1 3w g wRifefy % e g TS 3 qH
HIGR AT H ? :

A) = B) Y®AEA (C) Cul+V (D) wewhim
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160.

£

Which is graphical represeqtation of data and values in MS-Excel 2 =

(A) Function ~ (B) Graph €y Formula (D) Chart
MS-ExceIﬁ%‘aaﬂ'{W%ﬁTmﬁW%
(A) wwr (B) UT® (Cz)/'q\il (D) =7

161. Which.command is used to close the window of Excel ?
Qa@a%ﬁ@aﬁﬁw%mmmwmmmé 9

(AyAL+F4  (B) Cul+W  (C) Ctl+R (D) Culsc

162. PowerPoint presentation is a collection of
(A) slides and handouts
(C) outlines

(D) _All'ef these
TERAE TG _ wrEmg R | =

(A) TTESH AR FFSETH (B). B Frem
(C) =TT ©) =

(B) speakef’s hotes

163. In PowerPoint formatting toolbar is located just below
(A) Standard toolbar (B) Drawing toolbar

(C) Command tagk tdolbar Picture toolbar
qrERyise § tmrhﬁn TR & foepa R R

(A) WEs EEn y (B) ¥ I@ER
(C) WIS TR IR (D) TR @ER
164. In PowerPoint pentagon motion is a pre-defined in
(A) Design template (B) Colour scheme
(C) Animation scheme ‘(D 1 of these
T ﬁﬁ?ﬁlﬁﬁm - 2
L (A) 3R IR (B) HeR &HH
(C) T whm (D) A=as
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166.

167.

168.

169.

170.

| MS-TrETIEE W, §H ey W)y

vy P, 5 Py 3 A n 7
In MS-PowerPoint, in arder to see g slides on one screen

use
2 TR Y % R 3w e
FATar e |
(A) view —» slide sorter | &) o
(C) view — master o s

(D) view — slide show
) 1 ey 1 -4 i % 1 \
In PowerPoint. to” inserta new slide in the current presentation, we can
choose S T IANR

mﬁﬁmmﬁ#maﬁﬁwm%mm?m%
@) Crl+M - ®) cul+N () cmso (D) Ctrl+F

Which is an or
(A) File

(B) Library () Database (D) Dictionary

ﬁ?mmw%m%mmmm—gq

(A) s (B) wmestd (C) Terw D) femr
DBMS means 30

(A) Digital Base Management System

(B) Data Build Management System

(€J Database Management System

(D) None of these ‘

DBMS 1 a7ef -

(A) Tesfies s Aot ey (B) = foree temie freen

(C) =™ A= freen (D) ARG

A group of related record in a database is called a(an) ‘ ’
(A) column (B) object (C) key (D) table
e ¥ Haft ferd S ag S v wga § ¢

(@A) wem o (B) dew () # Oy T

Ina hieraiiéﬁical model in DEMS, records are organized as

(A) graph (B) list (C) links (D) tree
DBMS & T wiRer 8, R Seuddmieand )

A) T B ©) fiw ®f &
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